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- Question 1 (12 noints)

On March 1, 2013, Union bank contracted Nabali & Fares Construction Co. to construct a
building for $2,000,000 on land costing $200,000 purchased from the contractor and included in
the first payment. :

Construction was begun on May 1, 2013 and was completed on December 31, 2013. Union bank
made the following payments Lo the construction company during 2013:

Daie | Payment |
May 1,2013 $600,000 <2

September 1, 2013 600,000
December 31, 2013 1,000,000
Total $2,200,000

Nabali & Fares completed the building on December 31, 2013. Umon Bank had the following
debt outstanding at December 31, 2013.
1) 15%, 3-year nete in the amount of $500,000, to finance purchase of land and construction
of the building, dated May 1, 2013, with interest payable annually on December 31.
2) 10%, 5-year note in the amount of $1,200,000 dated J_)uCCmbCI' 31, 2010, with interest
payable annually on December 31.

Required

a) Determine the amount of interest to be capitalized in 2013 in relation to the construction of the
building.

b} Prepare the journal entry to re{,ord the Capltah.f.’atl()ﬂ of interest and the recognition of interest
expense, if any, at December 31, 201'%



i
=
} t (
 n SN
Solution ¢
' j (o

9
\r\/ecr;'\\j‘:\uj P‘Vﬁ% SR ¢ A@L &

Bt < ey X
W\f-'i-" :3(:\ ES devf Gue ié/ ‘V( G Qe
\ z
SLQ\fW“’\Q""’ \ J S PvTS) L«{/ z’c_, o g oS
\‘Z
. ) ) f/'
Rl
K)&L' ﬁ‘)-‘g \ GQC’{'Q Sa C) - - . ’/(-3

T | ‘ | ‘ o~ Sdro o
[
I na ' \/ 7
L& Y Sdwa

4?,\\(‘_3\.:&/&]\.&_ v 3"’-’{ "Js\' %*“ ‘
Gee,oue }l/\c) — ?c)(wcra /

y | 4
X oo o \oweg " Qe

A

_%} A‘WM}V“ (:@mn;f‘?rﬂ,(g

M\ S‘\’W(ﬁ;\.f ﬁbjM 3\‘@ ) vu’i cukf)\-é:_ “.J}Q(Q&/}

-'(70“,-;-\.-’?) “.’\9 K *——‘/ —%’J Zéad f@ \/JQCC‘M&Q‘% b Lo W’\/)’“"\
. ' = \ tﬂLM LW/\C

(Zeo,00 . Y\o < \ K Toeee { ey

NG 70000

==

Qur Bl — o= i) 85000

RN ERAIEIY: k/%/ 600
ol o\ e \@mw



Case (1)

Mo :
i <
PN
=i ...-..————--»—..“,_';;}
VA
Question 2 (14 points) \ R
‘ ! |
Use the following iable to fill in your an'swer for each case and company.
: ; T 1
Case Rec"%}““" Loss Recognized Deferred Gain | FMYV of New
Gf any) Gain (if any) {if any) Asset
& {F-
, : « 6 7 O
Ramalilah Co. m‘?m Sl %«J %@* e
) ffj;(JO S :
Case (1) : q \/‘l ) ; g
B. " (_, ‘i' Fd %j;‘:‘;,/ i7s »
irzeit Co. G R A % E e I e
Case (1) %% 7 % ?Fl-'/wc:
Ramallah Co. \%
| Case (2) AR |
Birzeit Co. N/ s g
Case (2) Eos _ O2Foee
Ramallah Co. 7 § ;o —
Case (3) . /Z;u _ ; if}ffm@
~ s e
Birzeit Co. ;
Case (3) gﬁaa /,.a [ %)»;oou
7 e
A ,/’J

Cn Marchi 1, Ramallah Co. exchanged productive assets with Birzeit Co.. Ramallah’s asset is
ged p

referred to below as “Asset A”, and Birzeit’s is referred to as “Asset B”. The following facts

pertain to these assets. Assume the exchange has a commercial substance.

Information Ramailah Company (Asset A) | Birzeit Company (Asset BB)
Original cost $150,000 $90,000 B g"
O,
Acc. dep. (to date of exchange) 90,000 40,000 ) _ #
Fair value at date of exchange 70,000 %,c9° %ﬁw %EGZ
. e 4 E P
Cash received 12,000
Cash paid 12,000
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Case (2)

Using the same information in case (1) but, assume that the exchange of Assets A and B lacks

commercial substance.

Casge (3)
Information Ramaliah Company (Asset A) | Birzeit Company (Asset B)
Original cost $150,000 BV $90,000 °
Acc. dep. “to date of exchange) 90,000 N 40,000 o
Fair value at date of exchange 75,000 \© b 7 ubheos
Cash received 30,000 xg-wﬁﬁ‘“)\
| Cash paid 30,000 B

Assume that the exchange of Assets A and B lacks commercial substance.

e i

armmnn

g CJ/GL-‘K‘J"‘*’ ‘\/‘ 6’0&}—&

(jébiw WJ

% \6 o — 6@0._} »{BM

‘_d{d’.}".}

oSS,

G

o Lev e
-ZC)C:},{JE') "f - ) ;
) = oo



Quaestion 3 (12 points) \ ] ; /Z,a e

On July 1, 2012, Maher Co. purchased a manufacturing machine for $648,000. The machine has
a five y year estimated useful life and a $90,000 estimated salvage velue. Maher expects (0
manufacture 1,395,000 units over the life of the machine. During year 2013, Maher
manufactured 280,000 units.

For each item, calculate depreciation expense for year 2013 for the manufacturing machine
described above using the method listed. Round all amounts to the nearest whole number.

} 47N Depreciation Method o _Amonnt
R
1. Units of production ' /( V2 u(,b

Sum-of-the —years’-digits

oY
Y/

Double —declining-balance

B Ak

Straight-line
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Question ¢ (28 points)
Each of the following situations is independent: %u \aa.» o ‘!\
1. Rantisi Company uses special pressing equipment in its pressing olive oil service. The
equipment was purchased in January 2011 for $10,000,000 and had an estimated useful life of 10
years with no salvage value. At December 31, 2013, new technology was introduced that would
accelerate the obsolescence of Rantisi’s equipment. Rantisi’s controller estimated that expected
future net cash flows on the equipment will be $6,500,000 and that the fair value of the
equipment is $5,500,000. Rantisi intends to continue using the equipment, but it is estimated
that the remaining useful life is 4 years. R dﬁfﬁ—ﬁE%—sﬂmghthe depreciation. The fair value
of the equipment at December 31, 2014, is estimated to be $6,000,000. 5 f,c,u s ' ;
L \ A6 s

2. Assume that Rantisi intends to dispose of the equipment and that it has not been disposed of as
of December 31, 2014, It is expected that the cost of disposal will be $100,000.

Gv = osoe = Qduo,od T\0\0 w00
3. Climatic Company purchased a patent in January 2010 for $2,000,000 and had an estimated
useful life of 8 years with salvage value in the amount of $20,000. At December 31, 2013,
Climatic’s controller estimated that expected future net cash ﬂows on the patent will be $900,000 \q/ i
and that fair value of the patent is $830,000. Climatic intends to continue using the patent, but it
is estimated that the remaining useful life is 2 years. Climatic uses straight-line depreciation.
The fair value of the patent at December 31, 2014 is estimated to be $1,500,000.

A\WEATA

4. Pinar Company owned a ftrade name at December 31, 2808 at 2 cost of $5,000,000 with
indefinite useful life and no salvage value. At DeGeinber 31, 2013, it is determined that the faiz
value of the trads name is $4,000,000. Assume that Pinar intends to dispose of the trade name
and that 1t has not been d cxﬁo’?&"‘d’ f as of December 31, 2014. It is expected that the cost of
disposat will be $150,000. The fair value of the trade name at December 31, 2014 is estimated to
- be $4,700,000. "’""i
' : L{O«:’u[ d
5. Bisan Comp’my spent $6,000,000 developing its new “Bisan” software package. Of this
amount, $2,000,000 was spent before technological feasibility was established for the product,
which is to be marketed to third parties. At December 31, 2013, new technology was introduced
that would accelerate the obsolescence of the software. Bisan’s coniroller estimated that
expected future net cash flows from the software will be $3,500,000 and that the fair value of the
software is $3,000,000. Bisan intends to continue selling the software. Bisan estimated that the
remaining useful life is 4 years for this software with total revenues of $15,000,000. During
2014 Bisan realized revenues of $2,500,000. The fair value of the software at December 31,
2014 is estimated to be $3,500,000.
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6. Presented below is net assat information related to Bravo Division of Asalah Co.

Bravo Division
et Assets
As of December 31, 2013

Cash
Receivables
Property, plani, and equipment {(net)
Goodwill
Less: Notes payabie .

o o \u >
Met assets

, i

A

€O 80,006,059
{ 10,000,000~ Lowgpro”
O\ 60,08F,860 N\ows,cud
¢ 4088800 |
Go §'54.i}88;99@_) “"'\/iﬁtc-c{du,:g
$100.660.6207

At December 31, 2013, Bravo division experienced 0pé~ﬂfrtin§ losses. In additior, it now appears
that it will generaie substantial losses for the foreseeable future. It is determined that the fair
value of the Bravo division is $90,000,000. The recorded amounts for Bravo’s net assets
(excluding goodwiil) is the same as fair value, except for property, plant and equipment, which
has a fair value of $1,000,000 above carrying value, receivables, which has a fair value of
$2,000,000 below carrying value and notes payable, which has a fair value of $4,000,DGO below

carrying value.

: . o W o e <=
The following four responses are required for each item (if any). e
+ Select from the list below the proper impairment test/s code. . . = R ”

»  Compute the amount of impairment Ioss,
o Compute the depreciation/amortization expense
» {Compute the recovery of impairment loss.

P iend
q qtlw-—i“ e
e

Fmpairment Test Type

Recoverability test

Fair value test

Fair velue of business unit

Fair value of implied Goodwill

—
Q)
../’p > :
Code
A
B
C
D

Use the following table to fill in your answer for each situation.

~J
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AN

Item | Type et | Impairment Loss at Dec. 31, | Depreciation/Amortization Recovery of
Test/s 2013 (if any) Expense for 2014 (if any) Impairment Loss
- : at Dec. 31, 2014 (if any)
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Question 5 (12 points) {
: e

Space Cornpany is involved in a number of projects related to its future success. Some of these
projects are considered operational activities while others are considered ressarch and
development (R&D) activities. Space must determine the proper accouufing treatment in
assessing certain expendifures for the year.

From the answer choices listed below, select the proper accounting treatment for each of the
expenditures listed below. Each choice may be used once, more than once, or not at all.

: . - _ —
Expenditure Choice

1. Executive Salaries . | H

2. Costs incurred to upgrade current production facility C.

3. Legal fees to obtain a patent on a new rocket engine ) B

4. Salaries of research staff designing new rocket engine i Q

5. Marketing research costs (o promote new rocket engine B \;[

6. Costs incurred to improve engine currently in production - h\/é;{i '
7. Material, labor, and overhead costs of new rocket engine ' _ i =

8. Costs incurred to successfully defend patent on the new rocket engine

9. Acquisition of machinery to be used on current and future R&I projects

11. Research costs incurred under contract for Palestine Company and billed
maonthly

12. Costs of quality control in early stages of new rocket engine commercial
production

10. Research costs by Electro Company under contract for new rocket engine : g :

Answer Choices

A. Record as receivable E. Expense as consumed as R&12 expense

B. Capitalize and amortize F. Expense immediately as R&D expense

C. Capitalize and depreciaie G. Expense as manufacturing cost

D. Capitalize and depreciate as R&D expense | H. Expense as operating expense



